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Run 5986 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 55705
Mean: 14.2932 &/- 000034
Sbd Dwew: 0UB011 &4 0.0024

=== Lager OFF ---
Enirie=: 47352
Mean: 27634 +- 00013
Sid Dhey: 02825 - 00009
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Run 5986 quartetwizse, Diffz0
=== Laser O -—

Entries: 556705
Mean: -0.745%8 «/- U022
Sbd Dey: 05137 & 0005

=== Laser OFF ---
Eniries: 47352
Mean: 0005 +- 0.0016
Sid Dhey: 03457 - 000711

]

Run 5986 quartetwise, Asyms)

=== Laser ON -—
Entries: 55705
Mean: 314916 +/- 0.0914
Sid Dev: 21,673 4/~ (LDGEAE

=== Laser OFF ---
Eniries: 47352
Mean: 00638 +- 0.0667
Sid Dev: 145191 &~ LI472
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Run 5986 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entrie=: 56705
Mean: 160430 &/~ DU0036
Sid Dhev: 0LAA00 &~ 00025

=== Lager OFF ---
Enlrie=: 47352
Mean: 27619 «/- 0.0013
Sid Dhev: 02842 &b 00000
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Run 5386 quartetwize, Sums0
— === Laser ON -—-
— Entries: S6TDS
[ Mean: 29,3361 +/- 000EE
[ Sbd Dherv: 1.5591 &~ 0.0047
[ == Laser OFF ---
[ Entries: 473582
— Mean: 55252 +/- 0.00
— Sbd Dhev: 04491 -~ 000715
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Run 5986 quartetwise, PosHelAccd

Run 5386 quartetwise, NegHalAccd
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Run 5986 quartetwize, Asymsd
2500 [ === Laser OM -—-
— Entries: 55705
[ Mean: -31.9535 /- 00744
2000 — Sid Dev: 176515 +/- (L0529
- === Laser OFF ---
[ Eniries: 47352
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[ Sid Devy: 71500 - 002352
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Run 5386 quartetwise, Asyms LISbg1

=== Laser O -—
Entrie=: 55705
Mean: 00007 +- 0.06022
St Dhey: 0.5268 +~ D006

=== Lager OFF ---
Enirie=: 47352
Mean: -0.0005 - 00024
Sid Dhey: 0.5246 +~ 00017
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Run 5386 quartetwize, Asyms DSbg1

] nE

=== Laser O -—

Entries: 55705
Mean: -0.0002 «/- 00009
Sid Dhey: 00885 - D003

=== Laser OFF ---
Eniries: 47352
Mean: 00003 «- 0.0004
Sid Dhey: 0L0E8T 4 00003

Run 5986 quartetwise, Asyms Horiz Fingar

=== Laser ON -—

Entries: 55705
Mean: -0.0017 «/- DLO0DE
Sid Dey: 01962 - 00006

=== Laser OFF ---
Eniries: 47352
Mean: 00011 +~ 0.0010
Sid Dey: 002200+~ 00007
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Run 5988 quartetwize, Asyms USbg2

L

=== Laser O -—-
Entrie=: 56705
Mean: 000G «/- 00015
Sid Dhew: 03603 &~ 0.0071

=== Lager OFF ---
Enlrie=: 47352
Mean: -0.00135 «/- 00016
Sid Deyv: 03547 - 00072
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Run 5386 quartetwize, Asyms DShg2

=== Laser O -—-

Entries: 56705
Mean: -0.0002 «- 00003
Sid Dhev: 0L0E27 &b 00002

== Laser OFF ---
Enlries: 47352
Mean: -0.0004 «- 00004
Sid Dev: 0L0E22 - 00003

L[TTTT
.

Run 5386 quartetwise, Asyms Vert Finger

=== Laser O -—-

Entries: 56705
Mean: -0.0047 «/- 0000
Sid Dev: 0.X362 &~ 0.0007

== Laser OFF ---
Enlries: 47352
Mean: 0001 +- 0.0013
Sid Dhev: 0.2844 - 00009
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Run 5986 quartetwize, posHE vs time

' pln e

1B

14

TR O T T TTT R TV TR YR TITTIIH (I

|'_'|—|—|||||I|||.|.I l| |‘“““|||||H1||||I

. - H 1
ESL A | ||||| " : Pedd |
1|:-:L-‘_Ii l!:i }Il i=i:!ill ||i _' : ”'ili ulli- |
o= | '
6
4__
4

] 0 7] T 00 120 140 B0 R0
Entry%
Run 5886 quartetwize, diffl ve time
¥
5
N I B BT BT T BT N B L s
7] T 00 120 140 B0 TR0 200
Entry§

Run 5986 quaretwize, asymisub vs fime
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Run 5886 guartetwize, negHO vs time
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Run 5886 quartetwize, posH4 vs time
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Run 5886 guartetwize, negH4 vs time
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Run 5986 quartetwize, USbg1 ve time
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Run 5986 quaretwizse, variFing vs timea
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